Tower(a) 01TA10, inclusive ADC a01TA10

— : : : Entries 504000
...... 3 BSUUUUSOOOUSION OSSNSO SRRSO NOSOOOO B \[=Y: 13 0.07763
: : : : RMS 1.938
: : : : Integral 5.04e+05
""" X2 / ndf 1291/7
| | | | Constant 1.92e+05 + 347
Mean -0.05329 + 0.00153
Sigma 1.035+ 0.001
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ADC-ped
d01TA10

Entries 45
Mean 15.93
RMS 5.694
Integral 44
X2 / ndf 4.159/7
| x0 14.72 + 0.35
! aL 9.927 + 2.399
| sigL 2.502e+04 + 20197
| sigG 1.048 + 0.272
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Tower(a) 01TB10, inclusive ADC

.......................................................................................................................
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a01TB10
Entries 504000
Mean 0.1503
RMS 2.026
Integral 5.04e+05
X2 [ ndf 1426/ 7

Constant 1.917e+05 + 347
Mean 0.007522 + 0.001529

Sigma 1.036 + 0.001
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0 100 ~120
ADC-ped
d01TB10
— — Entries 63
= Mean 18.52
B RMS 7.314
R I RIINte S ISt R SEEPEEIS AR Integral 62
B X2/ ndf 5.356 / 10
- : | X0 16.07 + 0.33
I AT aL 9.267 + 1.075
B sigL 1.431e+04 + 1
NSRS SRRSO S ot sigG 1.727 + 0.248
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Tower(a) 01TC10, inclusive ADC

10°
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a01TC10
Entries 504000
Mean -0.5628
RMS 2.045
Integral 5.04e+05
X2 / ndf 1680/ 8

1.86e+05 + 335
-0.7091+ 0.0016

Constant
Mean

1.067 + 0.001

Tower(d) 01TC10 , ADC, tag: UxV 2*thr d01TC10
= : ' Entries 69
oFE- Mean 18.22
= RMS 7.6
8E- Integral 69
A== X2 / ndf 5.725/9
6 x0 14.19+ 0.49
= al 8.813+ 1.719
== sigL 1.845e+04 + 17815
= sigG _ 2.196+ 0.601
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Tower(a) 01TD10, inclusive ADC a01TD10
B Entries 504000
10° [ Pl oo Mean -0.1339
= RMS 2.126
oy e Integral 5.04e+05
E X2 / ndf 770.5/8
. — Constant 1.519e+05 £ 271
10" = Mean -0.2661+ 0.0019
E Sigma 1.309 + 0.001
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Tower(d) 01TD10 , ADC, tag: UxV 2*thr d01TD10
— : : Entries 52
- I Mean 16.64

e RMS 3.193
7 OSSO0 SOSRION  T ea o Integral 51
= x? / ndf 6.719/9
— x0 15.63 + 0.33
= al. 9.392 + 1.577
~ sigL 1.67e+04 + 20263
- SigG. . 1.419 + 0.281
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Tower(a) 01TE10, inclusive ADC
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a01TE10
Entries 504000
Mean -0.2125
RMS 1.793
Integral 5.04e+05
X2 / ndf 2289 /7
Constant 2.354e+05 *+ 431
Mean -0.3447 + 0.0013
Sigma 0.8429+ 0.0010

dO1TE10

Entries 69
Mean 15.91
RMS 4.378
Integral 69
X2 / ndf 4.894/9
x0 14.54 + 0.22
aL 15.27 + 2.79
sigL 6.1+ 16.7
sigG 1.207 + 0.194
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Tower(a) 02TA10, inclusive ADC a02TA10

= Entries 504000
10° Mean -0.2058
= RMS 1.885
~ Integral 5.04e+05
10* = X2 / ndf 233417
— Constant 2.3e+05+ 420
10° = Mean -0.3443 £ 0.0013
= Sigma 0.8625 + 0.0010
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Tower(d) 02TA10 , ADC, tag: UxV 2*thr dO2TA10

= : : : . Entries 60
S A A S S Mean 17.24
14 S N RMS 5.6
- Integral 58
12 [T s S R X2 / ndf 9.025/9
10 e T T | T e x0 15.11+ 0.57
m aL 6.618 =+ 1.505
] R R R 1 SRR SR S sigL 5.135e+04 + 25014
= b LSOG 2.965 % 0.757
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Tower(a) 02TB10, inclusive ADC a02TB10
= Entries 504000
108 e [ Mean -0.05234
= RMS 1.89
~ Integral 5.04e+05
L I e X2/ ndf 2447 /6
— Constant 2.502e+05 + 462
10° |t e Mean -0.1983 + 0.0012
= Sigma 0.7924 £+ 0.0009
e
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Tower(d) 02TB10, ADC, tag: UxV 2*thr d02TB10
- : ' Entries 53
- Mean 17.33
10 — UUUUUUUPUON UUULUUOPRUOY | OVSUON SUUUPSURORTOPO OO RMS 6.157
- Integral 52
Nl R 1 X2/ ndf 4.644 18
- x0 15.22 + 0.26
= aL 10.72 £ 2.60
o e I R sigL 2.098e+04 + 16848
- sigG 1.223 + 0.313
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Tower(a) 02TC10, inclusive ADC a02TC10
- Entries 504000
10% e Mean -0.2666
= RMS 2.064
F Integral 5.04e+05
el =R I T X2 / ndf 1347 /8
— Constant 1.778e+05 + 320
10° - Mean -0.4081+ 0.0016
E Sigma 1.117+ 0.001
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Tower(d) 02TC10, ADC, tag: UxV 2*thr | d02TC10
: : Entries 58
10 Mean 18.91
RMS 10.77
8 Integral 58
X2 / ndf 3.44/10
x0 14.75 % 0.44
° aL 7.694 + 1.050
sigL 1.974e+04 + 1
. sigG. _2.222+0.416
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Tower(a) 02TD10, inclusive ADC
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a02TD10
Entries 504000
Mean -0.2895
RMS 2.029
Integral 5.04e+05
X2 / ndf 1651 /8
Constant 1.865e+05 + 337

Mean -0.43 + 0.00

Sigma 1.065 + 0.001

Tower(d) 02TD10 , ADC, tag: UxV 2*thr |
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10 f—
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d02TD10
Entries 55
Mean 18.44
RMS 8.473
Integral 53
X2 / ndf 125/7
x0 15.96+ 1.06
aL 4.296 + 0.955
sigL 4.706e+04 + 80777
sigG 3.801+ 1.219
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Tower(a) 02TE10, inclusive ADC
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a02TE10
Entries 504000
Mean 0.08361
RMS 1.853
Integral 5.04e+05
X2 / ndf 2004 / 7
Constant 2.243e+05 + 409

Mean -0.05454 + 0.00132

Sigma 0.8846 + 0.0010

Tower(d) 02TE10, ADC, tag: UxV 2*thr dO2TE10
: : Entries 54
B [ Mean 16.13
L 1 St A RMS 3.997
N = Integral 54
o} NSRS SRS (RO SO 1 1 S X2 / ndf 5.315/10
— _ x0 15.38+ 0.35
S R SO AU S 1N R T aL 8.354 + 1.026
- sigL 6.428e+04 + 1
— . sigG 1.786 £ 0.261
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Tower(a) 03TA10, inclusive ADC
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a03TA10
Entries 504000
Mean -0.1386
RMS 1.84
Integral 5.04e+05
X2 / ndf 2156 /7

2.326e+05 + 426
-0.275+ 0.001

Constant
Mean

.........................................................................................................................

Sigma 0.8532+ 0.0010
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dO3TA10
Entries 59
Mean 17.11
RMS 5.594
Integral 59
X2 / ndf 11.24/9
x0 14.92 + 0.39
aL 8.332+ 1.716
sigL 1.471e+05 + 21143
sigG 1.695 + 0.353




Tower(a) 03TB10, inclusive ADC a03TB10

- Entries 504000
107 [ s Mean -0.09048
— RMS 2.335
PR N 5 SRR AV SN S Integral 5.04e+05
= X2 / ndf 287.7/8
s Constant 1.275e+05 + 227
100 = Mean -0.2256 + 0.0023
- Sigma 1.562 + 0.002
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Tower(d) 03TB10, ADC, tag: UxV 2*thr dO3TB10

= : : Entries 68
— ] Mean 16.11
14 RMS 3.841
12 Integral 66
X2 / ndf 12.79/ 15
10 x0 15.27 + 833736.81
o aL 7.038 + 833736.812
sigL 2.613e+04 + 1
5 sigG. 2.345 + 833736.812
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Tower(a) 03TC10, inclusive ADC
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a03TC10
Entries 504000
Mean -0.3029
RMS 2.143
Integral 5.04e+05
X2 / ndf 1088/ 8
Constant 1.605e+05 + 288
Mean -0.4464 + 0.0018
Sigma 1.238 + 0.001

Tower(d) 03TC10, ADC, tag: UxV 2*thr d03TC10
- : : Entries 76
e Mean 16.16
- RMS 4.822
120 Integral 76
10— X2 I ndf 3.941/9
- X0 14.55+ 0.31
8- al. 12.56 £ 2.02
= sigL 1.024e+04 + 38396
61— sigG _1.803+0.298
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Tower(a) 03TD10, inclusive ADC
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a03TD10
Entries 504000
Mean -0.5408
RMS 2.051
Integral 5.04e+05
X2 / ndf 1555/8
Constant 1.744e+05 = 313

Mean -0.6798 + 0.0017

Sigma 1.139 + 0.001

Tower(d) 03TD10 , ADC, tag: UxV 2*thr | d03TD10

= : : Entries 70
R I Mean 15.9
“E s RMS 5.703
) OO0 O I e o Integral 70
- X2 I ndf 9.206 /8
10 [ : X0 14.45+ 0.34
R R al. 10.64 + 0.51
m sigL 1.798e+04 + 1865
ENESRRRSSRA SURRRRO N | T R WSS S sigG. _1.789+0.354
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Tower(a) 03TE10, inclusive ADC

a03TE10

Entries

5
10

10
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SRS N Mean

RMS
Integral
X2 / ndf
Constant
Mean

504000

-0.5877

1.97

5.04e+05
1681/8
1.827e+05 + 329
-0.7195 + 0.0016

Sigma

1.088 + 0.001

dO3TE10

10 oo IS e '

Entries
Mean
RMS
Integral
X2 / ndf
x0

aL
sigL

53

17.44
7.438

52
12.42 /9

15.14 + 0.62
5.59+1.40
1.282e+04 + 27317

sigG

2.31+ 0.59
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